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1-47.

1-48.

a: Not a function because more than one y-valueis
assigned for x between -1 and 1.

b: Appears to be a function

¢: Not a function because there are two differenty-values for x=7.

d: Function

: x-intercepts (—1, 0) and (1, 0), y-intercepts (0, —1) and (0, 4)
: x-intercept (19, 0), y-intercept (0, ~3)

x-intercepts (-2, 0) and (4, 0), y-intercept (0, 10)

: x-intercepts (-1, 0) and (1, 0), y-intercept (0,~1)

a:2 tiles b:19tiles o

a:-7 b:-1 9 d:34 ™

One and two points are possible.




image7.png
1-60.

1-61.

1-62.

1-63.

:yes b:—6<x<6

13 b: 12
01 b: 12
: Yes b: 23°and 67°

: ~9465 people per sq. mile

©:23+67=90

b: ~5.4 billion people
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1-68.

1-69.

sk b 9K di At e 8y

: Haley is correct. b: Haley is incorrect

: 62.5 should be 6.25 b: 1000 should be 10°

¢:.39 should be 3.9

112 b:18 c:21

:-2 b 1% ¢:0  d: No Solution
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1-81.

1-82.

1-83.

1-84.

1-85.

4 25

a2 b:53

a: Yes b: Yes c: No

d:a)D: AllReal#s R:l<y<3
b)D: AllReal #s R: y20
D: x2-2 R: All Real #s

a:1.6x10°  b: 5.8413x10°

a: 68 in?
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1-6. a: y=x?—6 andthen y=vx-35

b: Yes
a:54 b 72 o2 d:2.93
18 a f H b: Grows by 2 each time.
B = — el
Figure 4 Figure 5
19, a:-59 b:17 -T2 &6 e:-24
£ -25 g:25 25 &7

1-10. a1l b:3 c:9
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1-15._a: Draw figure b: 42 Tiles. Add 4 tiles to get the next figure.

116, a:x=0b:x=anymumber c:x=14  d:nosolution
PR [ -2 @l
18 35 B

118, a:S18 b: Yes c: 8.4 gallons d: Answers Vary
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1-19.

1-20.

1-21.

1-22.

1-23.

1-22.

1-23.
1-24.

a:-17 b8 c:8 d: 486
Answers Vary
as b: 19 76

a:Below SeaLevel  b: Decreases  c: -2700m; 675m; Om
d: Graph e yes
2
3
a: Function A = 84, Function B = no solution
b: He cannot get an output of 0 with Function A.
He can get an output of 0 by putting a 4 in Function B.

a:-3 b5 c;

a-3 b5 c:

wis

a: 84 and no solution
b: Yes, an input of 4 in the second machine
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1-28. a:5  b: =180

1-29. a:2 b:30 c:13 d:7

1-30. az4 b:5 -2

1-31. a:100°, obtuse b: 170°, obtuse ¢:50°, acute
132 a: [T ral b: The graph is a curve, going up.
As x increases, y increases.
L4 c: Answers will vary. Possible answers include:
IR aa max = 10 feet (the highest she can jump),
i ! H 0 feet
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1-38.

1-39.

1-40.

a:8  b:10 c¢:-2  d: No Solution
a2 b8 2

no

a: 71 b: 72E 3
10 3

d: -3

Wl

1-42*. Bonus Problem




